CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #2F 2011 MISCELLANEOUS IMPROVEMENTS PROJECT PROJECT NO. MIP11-1923 / CIP NO. 50298 OCTOBER 21, 2011

ORIGINAL CONTRACT AMOUNT: \$106,198.88 CONTRACTOR: DHD CONSTRUCTION INC

LINE	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
	MOBILIZATION	LS	1.00	\$4,050.00	\$4,050.00	1.00	\$4,050.00	\$0.00
	SAW & REMOVE ASPHALT PAVEMENT	SY	366.00	\$24.75	\$9,058.50	345.00	\$8,538.75	(\$519.75)
3	REMOVE CURB & GUTTER	LF	273.00	\$12.25	\$3,344.25	313.50	\$3,840.38	\$496.13
4	REMOVE SIDEWALK	SF	1,473.00	\$2.20	\$3,240.60	1,833.50	\$4,033.70	\$793.10
5	REMOVE CONCRETE APPROACH	SY	30.50	\$24.75	\$754.88	36.22	\$896.45	\$141.57
6	ASPHALT MILLING	SY	770.00	\$4.18	\$3,218.60	692.00	\$2,892.56	(\$326.04)
7	INSTALL CONCRETE SIDEWALK	SF	1,238.00	\$4.95	\$6,128.10	1,829.10	\$9,054.05	\$2,925.95
8	CURB AND GUTTER	LF	228.00	\$27.50	\$6,270.00	300.00	\$8,250.00	\$1,980.00
9	INSTALL CONCRETE FILLET	SY	58.00	\$66.00	\$3,828.00	65.50	\$4,323.00	\$495.00
10	REINFORCED CONC. SIDEWALK	SF	180.00	\$5.50	\$990.00	184.00	\$1,012.00	\$22.00
11	REINFORCED CONC. APPROACH	SY	30.50	\$60.00	\$1,830.00	15.52	\$931.20	(\$898.80)
12	REINFORCED CONC. PAN	SY	61.00	\$60.00	\$3,660.00	58.00	\$3,480.00	(\$180.00)
13	DIGOUTS W/ TYPE 3 MATERIAL	CY	18.00	\$70.00	\$1,260.00	28.50	\$1,995.00	\$735.00
14	BASE COURSE	TN	94.00	\$18.70	\$1,757.80	73.53	\$1,375.01	(\$382.79)
15	ASPHALT PAVEMENT (PG 58-28)	TN	182.00	\$180.00	\$32,760.00	206.48	\$37,166.40	\$4,406.40
16	TYPE 'B' ADVANCE ARROW PANEL	EA	2.00	\$110.00	\$220.00	0.00	\$0.00	(\$220.00)
17	ADJUST MANHOLE FRAME & GRATE	EA	2.00	\$220.00	\$440.00	3.00	\$660.00	\$220.00
18	TRAFFIC CONTROL	LS	1.00	\$15,300.00	\$15,300.00	1.00	\$15,300.00	\$0.00

19	INCIDENTAL	LS	1.00	\$8,600.00	\$8,600.00	1.00	\$8,600.00	\$0.00
20	EROSION WATTLES	LF	100.00	\$4.00	\$400.00	100.00	\$400.00	\$0.00
21	OUTLET/ INLET PROTECTION	EA	8.00	\$180.00	\$1,440.00	1.00	\$180.00	(\$1,260.00)
22	24" DIAMETER CONCRETE POLE FOOTING	LS	1.00	\$1,071.44	\$1,071.44	1.00	\$1,071.44	\$0.00
23	MOBILIZATION	LS	1.00	\$500.00	\$500.00	1.00	\$500.00	\$0.00
24	TRAFFIC CONTROL	LS	1.00	\$4,500.00	\$4,500.00	1.00	\$4,500.00	\$0.00
25	REDESIGN ON POLE FOOTING	LS	0.00	\$367.35	\$0.00	1.00	\$367.35	\$367.35
	TOTAL				\$114,622.17		\$123,417.29	\$8,795.12

				0111 000 17
ļ.	C.C.O. HISTORY INCREASE/(DECREASE)		PRIOR ADJUSTED CONTRACT PRICE:	\$114,622.17
	CCO #1	\$8,423.29	NET INCREASE/(DECREASE):	\$8,795.12
	CCO #2F	\$8,795.12	ADJUSTED CONTRACT PRICE:	\$123,417.29
		\$0.00	CHANGE TO DATE:	\$17,218.41

Da- Hen	11-4-11
CONTRACTOR: DHD Construction, PO Box 133, Wall, SD 57790 - 605-279-2806	DATE 1961/11
PROJECT MANAGER: CHEARE SCHROEDER, P.E.	DATE
Hay Min	10-27-11
CITY ENGINEER: DALE TECH, P.E. / L.S.	DATE
MAYOR: SAM KOOIKER	DATE
FINANCE: PAULINE SUMPTION	DATE
CONTRACT TIME CHANGE +/-: 0 NEW CONTRACT TIME: Days	

City Staff recommends approval of this Change Order #1 to DHD Construction for an increase of \$8,795.12 based on unit pricing with the following appropriation:

\$106,198.88			\$106,198.88
Misc Improvement			
8913			
4370			
0505			
\$8,423.29			\$8,423.29
\$8,795.12			\$8,795.12
\$123,417.29		\$123,417.29	\$123,417.29
	Misc Improvement 8913 4370 0505 \$8,423.29 \$8,795.12	Misc Improvement 8913 4370 0505 \$8,423.29 \$8,795.12	Misc Improvement 8913 4370 0505 \$8,423.29 \$8,795.12

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #2F 2011 MISCELLANEOUS IMPROVEMENTS PROJECT PROJECT NO. MIP11-1923 / CIP NO. 50298 OCTOBER 21, 2011

ORIGINAL CONTRACT AMOUNT: \$106,198.88 CONTRACTOR: DHD CONSTRUCTION INC

LINE	DESCRIPTION	REASON FOR CHANGE
2	SAW & REMOVE ASPHALT PAVEME	Quantity necessary to complete project.
3	REMOVE CURB & GUTTER	Quantity necessary to complete project.
4	REMOVE SIDEWALK	Sites were added to original project for repair.
5	REMOVE CONCRETE APPROACH	Quantity necessary to complete project.
6	ASPHALT MILLING	Quantity necessary to complete project.
7	INSTALL CONCRETE SIDEWALK	Crosswalk on St. Patrick St. added to original project.
8	CURB AND GUTTER	Crosswalk on St. Patrick St. added to original project.
9	INSTALL CONCRETE FILLET	Quantity necessary to complete project.
10	REINFORCED CONC. SIDEWALK	Quantity necessary to complete project.
11	REINFORCED CONC. APPROACH	Quantity necessary to complete project.
12	REINFORCED CONC. PAN	Quantity necessary to complete project.
13	DIGOUTS W/ TYPE 3 MATERIAL	Quantity necessary to complete project.
14	BASE COURSE	Quantity necessary to complete project.
15	ASPHALT PAVEMENT (PG 58-28)	Quantity necessary for additional sites.
16	TYPE 'B' ADVANCE ARROW PANEL	None used.
17	ADJUST MANHOLE FRAME & GRATI	Quantity necessary for St. Patrick crosswalk.
21	OUTLET/ INLET PROTECTION	Quantity necessary to complete project.
25	REDESIGN ON POLE FOOTING	Conflict with storm sewer, added additional labor to complete.

PREPARED BY: Klare Schroeder, P.E.

	FUNDING TYPE COST CENTER	Misc Improvement	
	LINE ITEM	4370	
<u> </u>	FUND	505	
ITEM NO.	DESCRIPTION OF ITEM	AMOUNT	PERCENT
1	MOBILIZATION	0.00	100%
2	SAW & REMOVE ASPHALT PAVEM	-519.75	100%
3	REMOVE CURB & GUTTER	496.13	100%
4	REMOVE SIDEWALK	793.10	100%
5	REMOVE CONCRETE APPROACH	141.57	100%
6	ASPHALT MILLING	-326.04	100%
7	INSTALL CONCRETE SIDEWALK	2,925.95	100%
8	CURB AND GUTTER	1,980.00	100%
9	INSTALL CONCRETE FILLET	495.00	100%
10	REINFORCED CONC. SIDEWALK	22.00	100%
11	REINFORCED CONC. APPROACH	-898.80	100%
12	REINFORCED CONC. PAN	-180.00	100%
13	DIGOUTS W/ TYPE 3 MATERIAL	735.00	100%
14	BASE COURSE	-382.79	100%
15	ASPHALT PAVEMENT (PG 58-28)	4,406.40	100%
16	TYPE 'B' ADVANCE ARROW PANE	-220.00	100%
17	ADJUST MANHOLE FRAME & GRA	220.00	100%
18	TRAFFIC CONTROL	0.00	100%

		•	
19	INCIDENTAL	0.00	100%
20	EROSION WATTLES	0.00	100%
21	OUTLET/ INLET PROTECTION	-1,260.00	100%
22	24" DIAMETER CONCRETE POLE F	0.00	100%
23	MOBILIZATION	0.00	100%
24	TRAFFIC CONTROL	0.00	100%
25	REDESIGN ON POLE FOOTING	367.35	100%
		\$8,795.12	